CORRIGENDUM TO THE PAPER "POLYNOMIAL ALGEBRAS ON CLASSICAL BANACH SPACES", ISRAEL J. MATH. 106 (1998), 209-220

STEFANIA D'ALESSANDRO, PETR HÁJEK, AND MICHAL JOHANIS

ABSTRACT. We give a corrected proof of the main Lemma 2 from the paper in the title (our Corollary 7).

1. Introduction

The paper [H] was concerned with the problem of describing the closure (in the topology of uniform convergence on the unit ball) of the algebra $A_n(X)$ of polynomials generated by all polynomials of degree at most n on the Banach space X. Of course, if X is finite-dimensional, then this situation is covered by the classical theorem of Stone and Weierstraß, so our interest lied with the case of infinite-dimensional Banach spaces X. This natural problem was suggested to us by Richard Aron, but its origin can be traced back to Shilov ([A1], [A2], [S]), and some early partial results on it were obtained in [NS].

The principal tool for obtaining our results in [H] was the finite-dimensional quantitative Lemma 2, which was obtained as a by-product of a new theory of algebraic bases for algebras of sub-symmetric polynomials on \mathbb{R}^N .

Unfortunately, the arguments in [H] contain a serious gap, which was recently spotted by the third one of the present authors. More precisely, the power series on top of page 213 should have been correctly centred at the point (x_1^0, \dots, x_n^0) , rather than at the origin. It is not clear to us at the present moment if this problem can be fixed, and so the theory of algebraic bases developed in [H] remains to be only a conjecture.

In the present note we give a different proof of the above mentioned lemma, which corresponds to our Corollary 7. As a result, all the infinite dimensional applications stated in [H], as well as in several papers by various authors which have relied on our previous work (e.g. [DD], [DG]) remain valid. In fact, the strongest results concerning polynomial algebras are contained in the paper [DAH], which is also based on the lemma in question.

For more detailed introduction to the subject and more references we refer to [DAH]. Let us now proceed with the corrected proof of Corollary 7.

2. PROOF OF THE MAIN RESULT

By \mathbb{N}_0 we denote the set $\mathbb{N} \cup \{0\}$, i.e. the non-negative integers. The canonical basis of \mathbb{R}^N will be denoted by $\{e_j\}_{j=1}^N$. By Df(x) we denote the Fréchet derivative of the function f at the point x. By $\mathcal{P}({}^d\mathbb{R}^N)$, $\mathcal{P}^d(\mathbb{R}^N)$, and $\mathcal{P}(\mathbb{R}^N)$ we denote the space of real d-homogeneous polynomials, polynomials of degree at most d, and all polynomials on \mathbb{R}^N , respectively. We say that a polynomial $P \in \mathcal{P}(\mathbb{R}^N)$ is sub-symmetric if

$$P\left(\sum_{j=1}^{k} x_j e_{n_j}\right) = P\left(\sum_{j=1}^{k} x_j e_j\right)$$

whenever $1 \le k < N, x_1, \dots, x_k \in \mathbb{R}$, and $1 \le n_1 < \dots < n_k \le N$.

Let $n \in \mathbb{N}$. For a multi-index $\alpha = (\alpha_1, \dots, \alpha_n) \in \mathbb{N}_0^n$ we denote its order by $|\alpha| = \sum_{i=1}^n \alpha_i$. Further, we denote the set of multi-indices of length k and order $d \in \mathbb{N}_0$ by

$$J(n,d) = \{\alpha \in \{0,\ldots,d\}^n; |\alpha| = d\}.$$

For $n, d \in \mathbb{N}$ we denote $\mathcal{J}^+(n, d) = \{\alpha \in \mathcal{J}(n, d); \ \alpha_j > 0, j = 1, \dots, n\}$ and $\mathcal{J}^+(d) = \bigcup_{n=1}^d \mathcal{J}^+(n, d)$. Given $k, N \in \mathbb{N}, k \leq N$, and $\alpha \in \mathcal{J}^+(k, d)$ we define $P_{\alpha}^N \in \mathcal{P}({}^d\mathbb{R}^N)$ by

$$P_{\alpha}^{N}(x) = \sum_{1 \le \rho_1 < \dots < \rho_k \le N} x_{\rho_1}^{\alpha_1} \cdots x_{\rho_k}^{\alpha_k}. \tag{1}$$

For $N \ge d$ the polynomials $\{P_{\alpha}^N; \alpha \in \mathcal{J}^+(d)\}$ form a linear basis of the space of sub-symmetric d-homogeneous polynomials on

 \mathbb{R}^N . An important special case of these polynomials are the power sum symmetric polynomials $s_n^N(x) = P_{(n)}^N(x) = x_1^n + \dots + x_N^n$. Our main result concerns the properties of sub-symmetric polynomials, however in its proof we need to work also with partial derivatives of the polynomials P_{α}^N and for this reason we consider also the polynomials P_{α}^N given by the formula (1) where $\alpha \in J(k,d), k \leq N$, using the convention that $x^0 = 1$ for every $x \in \mathbb{R}$. We denote by $H^{n,K}(\mathbb{R}^N)$ the subspace of $\mathcal{P}^n(\mathbb{R}^N)$

Date: September 2013.

2010 Mathematics Subject Classification. 46B20.

Key words and phrases. polynomial algebras.

Supported in part by GAČR P201/11/0345, Project Barrande 7AMB12FR003, and RVO: 67985840.

generated by the polynomials P_{α}^{N} , $\alpha \in \bigcup_{d=0}^{n} \bigcup_{k=1}^{K} J(k,d)$. For formal reasons we also put $P_{\alpha}^{N} = 0$ if k > N and $P_{()}^{N} = 1$, both even for N = 0, further $J(0,0) = \{()\}$, and $\mathbb{R}^{0} = \{0\}$. Note that these definitions are consistent with (1), using the convention that a sum over an empty set is zero and a product over an empty set is equal to 1.

The following fact describes an important relation between the restriction of P_{α}^{M} to the first N coordinates and P_{α}^{N} . Note that for M > N we consider canonically \mathbb{R}^{N} as a subspace of \mathbb{R}^{M} .

Fact 1. Let $M, N, k, d \in \mathbb{N}_0$, N < M, and $\alpha \in \mathcal{J}(k, d)$ be such that $\alpha_m > 0$ and $\alpha_{m+1} = \cdots = \alpha_k = 0$ for some $0 \le m \le k$. Then

$$P_{\alpha}^{M}(x) = \sum_{j=m}^{k} {M-N \choose k-j} P_{(\alpha_{1},\dots,\alpha_{j})}^{N}(x)$$

for every $x \in \mathbb{R}^N$. Conversely,

$$P_{\alpha}^{N}(x) = \sum_{j=m}^{k} (-1)^{k-j} \binom{M-N+k-j-1}{k-j} P_{(\alpha_{1},\dots,\alpha_{j})}^{M}(x)$$

for every $x \in \mathbb{R}^N$.

Proof. The first relation follows from the following (recall that $x \in \mathbb{R}^N$, i.e. $x_{N+1} = \cdots = x_M = 0$ as per the aforementioned convention):

$$\begin{split} P_{\alpha}^{M}(x) &= \sum_{1 \leq \rho_{1} < \dots < \rho_{k} \leq M} x_{\rho_{1}}^{\alpha_{1}} \cdots x_{\rho_{m}}^{\alpha_{m}} = \sum_{1 \leq \rho_{1} < \dots < \rho_{k} \leq M} x_{\rho_{1}}^{\alpha_{1}} \cdots x_{\rho_{m}}^{\alpha_{m}} \\ &= \sum_{j=m}^{k} \sum_{\substack{1 \leq \rho_{1} < \dots < \rho_{k} \leq M \\ \rho_{j} \leq N < \rho_{j+1}}} x_{\rho_{1}}^{\alpha_{1}} \cdots x_{\rho_{m}}^{\alpha_{m}} = \sum_{j=m}^{k} \binom{M-N}{k-j} P_{(\alpha_{1},\dots,\alpha_{j})}^{N}(x). \end{split}$$

The second relation can be proved by induction on k - m. For k - m = 0 it follows immediately from the first one. For the induction step we use the first relation together with the inductive hypothesis to obtain

$$\begin{split} P_{\alpha}^{N}(x) &= P_{\alpha}^{M}(x) - \sum_{j=m}^{k-1} \binom{M-N}{k-j} P_{(\alpha_{1},\dots,\alpha_{j})}^{N}(x) \\ &= P_{\alpha}^{M}(x) - \sum_{j=m}^{k-1} \binom{M-N}{k-j} \sum_{l=m}^{j} (-1)^{j-l} \binom{M-N+j-l-1}{j-l} P_{(\alpha_{1},\dots,\alpha_{l})}^{M}(x) \\ &= P_{\alpha}^{M}(x) - \sum_{l=m}^{k-1} \binom{\sum_{j=l}^{k-1} (-1)^{j-l} \binom{M-N}{k-j} \binom{M-N+j-l-1}{j-l}}{j-l} P_{(\alpha_{1},\dots,\alpha_{l})}^{M}(x) \end{split}$$

and the result now follows from the identity $\sum_{j=l}^k (-1)^{j-l} {M-N \choose k-j} {M-N+j-l-1 \choose j-l} = 0$. Adding or removing a couple of zero summands, this is equivalent to $\sum_{p=0}^{M-N} (-1)^{k-l-p} {M-N \choose p} {M-N+k-l-p-1 \choose M-N-1} = 0$, which is the Fréchet formula for the polynomial $t \mapsto {M-N+k-l-t-1 \choose M-N-1}$ of degree M-N-1 ([F], or [HK] for a more recent proof).

It is very important to notice that the previous fact covers all the special cases like $N < k \le M$, k > M, N = 0, m = 0, or k = 0. Observe also that in particular in the sub-symmetric case (i.e. $\alpha \in \mathcal{J}^+(d)$) we have $P_\alpha^M \upharpoonright_{\mathbb{R}^N} = P_\alpha^N$. Hence for sub-symmetric polynomials the superscript N can be dropped. We will use this simplification for the polynomials $s_n^N = s_n$.

The next fact deals with the situation when we fix the first N coordinates of P_{α}^{M} .

Fact 2. Let $N, d \in \mathbb{N}_0$, $M, k \in \mathbb{N}$, $N < M, k \leq M, \alpha \in \mathcal{J}(k, d)$, and $y \in \mathbb{R}^N$. Then the polynomial $(x_1, \ldots, x_{M-N}) \mapsto P_{\alpha}^M(y_1, \ldots, y_N, x_1, \ldots, x_{M-N})$ belongs to $H^{d,\min\{k,M-N\}}(\mathbb{R}^{M-N})$.

Proof.

$$P_{\alpha}^{M}(y_{1},...,y_{N},x_{1},...,x_{M-N}) = \sum_{j=0}^{k} \sum_{\substack{1 \leq \rho_{1} < \cdots < \rho_{k} \leq M \\ \rho_{j} \leq N < \rho_{j+1}}} y_{\rho_{1}}^{\alpha_{1}} \cdots y_{\rho_{j}}^{\alpha_{j}} x_{\rho_{j+1}-N}^{\alpha_{j+1}} \cdots x_{\rho_{k}-N}^{\alpha_{k}}$$

$$= \sum_{\substack{0 \leq j \leq k \\ k-(M-N) \leq j \leq N}} P_{(\alpha_{1},...,\alpha_{j})}^{N}(y) P_{(\alpha_{j+1},...,\alpha_{k})}^{M-N}(x_{1},...,x_{M-N}).$$

Let $k, d \in \mathbb{N}$, $\alpha \in \mathcal{J}(k, d)$, $k \leq N$, $x \in \mathbb{R}^N$, and $1 \leq l \leq N$. Then

$$\frac{\partial P_{\alpha}^{N}}{\partial x_{l}}(x) = \frac{\partial}{\partial x_{l}} \left(\sum_{j=1}^{k} \sum_{\substack{1 \leq \rho_{1} < \dots < \rho_{k} \leq N \\ \rho_{j} = l}} x_{\rho_{1}}^{\alpha_{1}} \dots x_{\rho_{k}}^{\alpha_{k}} \right) = \sum_{\substack{j=1 \\ \alpha_{j} > 0}}^{k} \alpha_{j} \sum_{\substack{1 \leq \rho_{1} < \dots < \rho_{j-1} < l \\ l < \rho_{j+1} < \dots < \rho_{k} \leq N}} x_{\rho_{j-1}}^{\alpha_{1}} \dots x_{\rho_{j-1}}^{\alpha_{j-1}} x_{l}^{\alpha_{j-1}} \dots x_{\rho_{k}}^{\alpha_{k}} \\
= \sum_{\substack{j=1 \\ \alpha_{j} > 0}}^{k} \alpha_{j} P_{(\alpha_{1}, \dots, \alpha_{j-1})}^{l-1}(x_{1}, \dots, x_{l-1}) x_{l}^{\alpha_{j}-1} P_{(\alpha_{j+1}, \dots, \alpha_{k})}^{N-l}(x_{l+1}, \dots, x_{N}). \tag{2}$$

These partial derivatives have the following useful property:

Fact 3. Let $k, d, N \in \mathbb{N}$, $\alpha \in \mathcal{J}(k, d)$, $k \leq N$. Then $\sum_{l=1}^{N} \frac{\partial P_{\alpha}^{N}}{\partial x_{l}} \in H^{d-1,k}(\mathbb{R}^{N})$.

Proof.

$$\begin{split} \sum_{l=1}^{N} \frac{\partial P_{\alpha}^{N}}{\partial x_{l}}(x) &= \sum_{l=1}^{N} \sum_{\substack{j=1 \\ \alpha_{j} > 0}}^{k} \alpha_{j} \sum_{\substack{1 \leq \rho_{1} < \cdots < \rho_{j-1} < l \\ l < \rho_{j+1} < \cdots < \rho_{k} \leq N}} x_{\rho_{j-1}}^{\alpha_{1}} \cdots x_{\rho_{j-1}}^{\alpha_{j-1}} x_{l}^{\alpha_{j-1}} x_{\rho_{j+1}}^{\alpha_{j+1}} \cdots x_{\rho_{k}}^{\alpha_{k}} \\ &= \sum_{\substack{j=1 \\ \alpha_{j} > 0}}^{k} \alpha_{j} \sum_{l=1}^{N} \sum_{\substack{1 \leq \rho_{1} < \cdots < \rho_{k} \leq N \\ \rho_{j} = l}} x_{\rho_{1}}^{\alpha_{1}} \cdots x_{\rho_{j-1}}^{\alpha_{j-1}} x_{\rho_{j}}^{\alpha_{j-1}} x_{\rho_{j+1}}^{\alpha_{j+1}} \cdots x_{\rho_{k}}^{\alpha_{k}} = \sum_{\substack{j=1 \\ \alpha_{j} > 0}}^{k} \alpha_{j} P_{(\alpha_{1}, \dots, \alpha_{j-1}, \alpha_{j} + 1, \alpha_{k})}^{N}(x). \end{split}$$

We note that this fact does not hold with $J^+(k,d)$ and the space of sub-symmetric polynomials in place of J(k,d) and $H^{d-1,k}(\mathbb{R}^N)$, and this is the sole reason for considering the larger spaces $H^{n,K}(\mathbb{R}^N)$.

 $H^{d-1,k}(\mathbb{R}^N)$, and this is the sole reason for considering the larger spaces $H^{n,K}(\mathbb{R}^N)$. For each $x \in \mathbb{R}^N$ we naturally identify $DP^N_\alpha(x)$ with the vector $\left(\frac{\partial P^N_\alpha}{\partial x_1}(x), \ldots, \frac{\partial P^N_\alpha}{\partial x_N}(x)\right) \in \mathbb{R}^N$.

Fact 4. Let $M, N, k, d \in \mathbb{N}$, M > N, $\alpha \in \mathcal{J}(k, d)$, $k \leq N$, and $x \in \mathbb{R}^N$. Then $DP_{\alpha}^N(x)$ is a linear combination of vectors $DP_{\beta}^M(x) \upharpoonright_N = \left(\frac{\partial P_{\beta}^M}{\partial x_1}(x), \dots, \frac{\partial P_{\beta}^M}{\partial x_N}(x)\right) \in \mathbb{R}^N$, $\beta \in \bigcup_{m=1}^k \mathcal{J}(m, d)$.

Proof. Let $1 \le m \le k$ be such that $\alpha_m > 0$ and $\alpha_{m+1} = \cdots = \alpha_k = 0$. Fix $1 \le l \le N$. If $\alpha_j > 0$, then $m \ge j$ and hence by Fact 1

$$P_{(\alpha_{j+1},\ldots,\alpha_k)}^{N-l}(x_{l+1},\ldots,x_N) = \sum_{s=m}^k c_s P_{(\alpha_{j+1},\ldots,\alpha_s)}^{M-l}(x_{l+1},\ldots,x_N,0,\ldots,0),$$

where $c_s = (-1)^{k-s} {M-N+k-s-1 \choose k-s}$. Therefore using (2) and the fact that $\alpha_{s+1} = \cdots = \alpha_k = 0$ if $m \le s \le k$ we obtain

$$\frac{\partial P_{\alpha}^{N}}{\partial x_{l}}(x) = \sum_{\substack{j=1\\\alpha_{i}>0}}^{k} \alpha_{j} P_{(\alpha_{1},\dots,\alpha_{j-1})}^{l-1}(x_{1},\dots,x_{l-1}) x_{l}^{\alpha_{j}-1} \sum_{s=m}^{k} c_{s} P_{(\alpha_{j+1},\dots,\alpha_{s})}^{M-l}(x_{l+1},\dots,x_{N},0,\dots,0) = \sum_{s=m}^{k} c_{s} \frac{\partial P_{(\alpha_{1},\dots,\alpha_{s})}^{M}}{\partial x_{l}}(x),$$

from which the statement follows.

We will also make use of the following version of the Lagrange multipliers theorem.

Theorem 5. Let $G \subset \mathbb{R}^n$ be an open set, $f \in C^1(G)$, $F \in C^1(G;\mathbb{R}^m)$, and assume that F has a constant rank. If the function f has a local extremum with respect to $M = \{x \in G; F(x) = 0\}$ at $a \in M$, then Df(a) is a linear combination of $DF_1(a), \ldots, DF_m(a)$, where F_1, \ldots, F_m are the components of the mapping F.

Proof. Let $k = \operatorname{rank} F(x)$ for $x \in G$. Since DF is continuous, we may without loss of generality assume that $DF_1(x), \ldots, DF_k(x)$ are linearly independent for each $x \in G$. From the Rank theorem it follows that there are C^1 -smooth functions g_j of k variables, $j = k + 1, \ldots, m$, and a neighbourhood U of a such that $F_j(x) = g_j(F_1(x), \ldots, F_k(x))$ for each $x \in U$, $j = k + 1, \ldots, m$ (see e.g. [Z, Proposition 8.6.3.1]). Notice that $g_j(0, \ldots, 0) = g_j(F_1(a), \ldots, F_k(a)) = F_j(a) = 0$, $j = k + 1, \ldots, m$. Therefore $M \cap U = \{x \in U; F_1(x) = 0, \ldots, F_k(x) = 0\}$ and we may use the classical version of the Lagrange multipliers theorem

Now we are ready to prove the key lemma.

Lemma 6. For every $n, K \in \mathbb{N}$ there are $N \in \mathbb{N}$ and $u, v \in \mathbb{R}^N$ such that P(u) = P(v) for every $P \in H^{n,K}(\mathbb{R}^N)$ but $s_{n+1}(u) \neq s_{n+1}(v)$.

Proof. The proof is based on the observation that $\sum_{l=1}^{N} \frac{\partial s_{n+1}}{\partial x_l}(x) = (n+1)s_n(x)$, which together with Fact 3 leads to an inductive proof. For each fixed $K \in \mathbb{N}$ we prove the statement by induction on n. So fix $K \in \mathbb{N}$ and denote $\mathcal{M}(n) = \bigcup_{1 \leq d \leq n} \bigcup_{1 \leq k \leq K} \mathcal{J}(k,d)$. The space $H^{n,K}(\mathbb{R}^N)$ is generated by a constant function and polynomials P_{α}^N , $\alpha \in \mathcal{M}(n)$. For n=1the functions P_{α}^{N} , $\alpha \in \mathcal{M}(n)$ are linear and so there is $N \in \mathbb{N}$ large enough such that $\bigcap_{\alpha \in \mathcal{M}(n)} \ker P_{\alpha}^{N}$ contains a non-zero element u. Then it suffices to take v = 2u.

The inductive step from n-1 to n will be proved by contradiction. So assume that for each $N \geq K$ and each $u, v \in \mathbb{R}^N$ satisfying $P_{\alpha}^N(u) = P_{\alpha}^N(v)$ for all $\alpha \in \mathcal{M}(n)$ we have $s_{n+1}(u) = s_{n+1}(v)$. Now let $F^N : \mathbb{R}^N \to \mathbb{R}^{|\mathcal{M}(n)|}$ be the mapping whose components are the polynomials P_{α}^N , $\alpha \in \mathcal{M}(n)$ in some fixed order and let $A_N(x)$ be its Jacobi matrix at $x \in \mathbb{R}^N$, i.e. $A_N(x) = \left(\frac{\partial P_\alpha^N}{\partial x_l}(x)\right)_{\substack{\alpha \in \mathcal{M}(n) \\ l=1,\dots,M}}.$ Note that the number of rows of the matrix of functions A_N does not depend on N. Thus there is $N \in K$ and $N \in \mathbb{R}^N$ such that rank $A_N(y) = r = \max_{M \geq K, x \in \mathbb{R}^M} \operatorname{rank} A_M(x)$. By the inductive hypothesis there are M > N and $M \in \mathbb{R}^M$ such that $M \in K$ such that $M \in$

but $s_n(g) \neq s_n(h)$. If we denote by $A_M(x) \upharpoonright_N$ the matrix consisting of the first N columns of the matrix $A_M(x)$, then r = $\operatorname{rank} A_N(y) \leq \operatorname{rank} A_M(y) \upharpoonright_N \leq \operatorname{rank} A_M(y) \leq r$, where the first inequality follows from Fact 4. Let w_1^M, \ldots, w_r^M be the rows of A_M such that $w_1^M(y) \upharpoonright_N, \dots, w_r^M(y) \upharpoonright_N$ are linearly independent. Using the continuity of the entries of A_M it is easy to see that there is a neighbourhood $U \subset \mathbb{R}^M$ of y such that for each $x \in U$ the vectors $w_1^M(x) \upharpoonright_N, \dots, w_r^M(x) \upharpoonright_N$ are linearly independent and so they form a basis of the space spanned by the rows of $A_M(x) \upharpoonright_N$. Clearly the same holds for $w_1^M(x), \ldots, w_r^M(x)$ and $A_M(x)$.

Fix an arbitrary $z \in U$ and put $S = \{x \in U; P_{\alpha}^{M}(x) = P_{\alpha}^{M}(z), \alpha \in \mathcal{M}(n)\}$. By our assumption s_{n+1} is constant on S and so Theorem 5 implies that $Ds_{n+1}(z)$ is a linear combination of the rows of $A_{M}(z)$. It follows that for each $z \in U$ the vector

 $Ds_{n+1}(z)$ is a linear combination of $w_1^M(z), \ldots, w_r^M(z)$. Next, we put $u = y + c \sum_{j=1}^{M-N} g_j e_{N+j}, v = y + c \sum_{j=1}^{M-N} h_j e_{N+j}$ for some suitable $c \neq 0$ so that $u, v \in U$. Notice that since $H^{n-1,K}(\mathbb{R}^{M-N})$ is generated by homogeneous polynomials, we still have P(cg) = P(ch) for all $P \in H^{n-1,K}(\mathbb{R}^{M-N})$ but $s_n(cg) \neq s_n(ch)$. For a fixed $\alpha \in \mathcal{M}(n)$ and $1 \leq l \leq N$ consider the polynomial $P(x) = \frac{\partial P_\alpha^M}{\partial x_l}(y_1, \dots, y_N, x_1, \dots, x_{M-N})$. Then by (2) and Fact 2 we have $P \in H^{n-1,K}(\mathbb{R}^{M-N})$ and so P(cg) = P(ch). Therefore

$$w_i^M(u) \upharpoonright_N = w_i^M(v) \upharpoonright_N, \quad j = 1, \dots, r.$$
(3)

We have $Ds_{n+1}(u) = \sum_{j=1}^r \lambda_j w_j^M(u)$ and $Ds_{n+1}(v) = \sum_{j=1}^r \mu_j w_j^M(v)$ for some $\lambda_j, \mu_j \in \mathbb{R}$ and of course the same holds when we restrict to the first N coordinates of all of these vectors. But since $Ds_{n+1}(u) \upharpoonright_N = (n+1)(y_1^n, \ldots, y_N^n) = Ds_{n+1}(v) \upharpoonright_N$, combined with (3) and the fact that $w_1^M(u) \upharpoonright_N, \ldots, w_r^M(u) \upharpoonright_N$ are linearly independent we obtain $\mu_j = \lambda_j, j = 1, \ldots, r$. Finally, from Fact 3 and Fact 2 it follows that $x \mapsto \sum_{l=1}^M w_j^M(y + \sum_{j=1}^{M-N} x_j e_{N+j})_l \in H^{n-1,K}(\mathbb{R}^{M-N}), j = 1, \ldots, r$. Therefore

$$(n+1)s_n(u) = \sum_{l=1}^M \frac{\partial s_{n+1}}{\partial x_l}(u) = \sum_{j=1}^r \lambda_j \sum_{l=1}^M w_j^M(u)_l = \sum_{j=1}^r \lambda_j \sum_{l=1}^M w_j^M(v)_l = \sum_{l=1}^M \frac{\partial s_{n+1}}{\partial x_l}(v) = (n+1)s_n(v).$$

Since $s_n(u) = s_n(y) + s_n(cg)$ and $s_n(v) = s_n(y) + s_n(ch)$, we get $s_n(cg) = s_n(ch)$, which is a contradiction.

Recall that an algebra of polynomials on \mathbb{R}^N is a subspace of $\mathcal{P}(\mathbb{R}^N)$ that is closed with respect to pointwise multiplication. Given an algebra $\mathcal{A}\subset\mathcal{P}(\mathbb{R}^N)$ we say that the set $B\subset\mathcal{A}$ generates the algebra \mathcal{A} if for every $p\in\mathcal{A}$ there is a subset $\{b_1,\ldots,b_k\}\subset B$ and a polynomial $P\in\mathcal{P}(\mathbb{R}^k)$ such that $p=P\circ(b_1,\ldots,b_k)$.

Corollary 7. For every $n \in \mathbb{N}$ there exist $N \in \mathbb{N}$ and $\varepsilon > 0$ such that for every $M \geq N$

$$\sup_{x \in B_{\ell_1^M}} |p(x) - s_{n+1}(x)| \ge \varepsilon$$

for every p from the algebra generated by the sub-symmetric polynomials on \mathbb{R}^M of degree at most n.

Proof. Applying Lemma 6 to K=n we obtain $N\in\mathbb{N}$ and $u,v\in B_{\ell^N_+}$ such that P(u)=P(v) for every $P\in H^{n,n}(\mathbb{R}^N)$ but $s_{n+1}(u) \neq s_{n+1}(v)$. We put $\varepsilon = \frac{1}{2}|s_{n+1}(u) - s_{n+1}(v)|$. Let $M \geq N$. Since all sub-symmetric polynomials from $\mathcal{P}^n(\mathbb{R}^N)$ are contained in $H^{n,n}(\mathbb{R}^N)$, from the remark after Fact 1 it follows that in particular P(u) = P(v) for every sub-symmetric $P \in \mathcal{P}^n(\mathbb{R}^M)$. We conclude that p(u) = p(v) for every p from the algebra generated by the sub-symmetric polynomials from $\mathcal{P}^n(\mathbb{R}^M)$. The statement now easily follows.

REFERENCES

- R.M. Aron, Approximation of differentiable functions on a Banach space, Infinite dimensional holomorphy and applications, Mathematics studies 12, North-Holland, 1977, pp. 1-17.
- R.M. Aron, Polynomial approximation and a question of G.E. Shilov, Approximation Theory and Functional Analysis, Mathematics studies 35, North-[A2] Holland, 1979, pp. 1-12.
- [DAH] S. D'Alessandro and P. Hájek, Polynomial algebras and smooth functions in Banach spaces, J. Funct. Anal. 266 (2014), no. 3, 1627–1646.

- [DD] V. Dimant and S. Dineen, Banach subspaces of spaces of holomorphic functions and related topics, Math. Scand. 83 (1998), no. 1, 142–160.
- [DG] V. Dimant and R. Gonzalo, Block diagonal polynomials, Trans. Amer. Math. Soc. 353 (2001), no. 2, 733–747.
- [F] M. Fréchet, Une définition fonctionnelle des polynomes (French), Nouv. Ann. Math., Sr. 4, 9 (1909), 145–162.
- [H] P. Hájek, Polynomial algebras on classical Banach spaces, Israel J. Math. 106 (1998), no. 1, 209–220.
- [HK] P. Hájek and M. Kraus, Polynomials and identities on real Banach spaces, J. Math. Anal. Appl. 385 (2012), no. 2, 1015–1026.
- [NS] A.S. Nemirovskij and S.M. Semenov, On polynomial approximation of functions on Hilbert spaces, Math. USSR Sb. 21 (1973), no. 2, 255–277.
- [S] G.E. Shilov, Certain solved and unsolved problems in the theory of functions in Hilbert space, Moscow Univ. Math. Bull. 25 (1970), no. 2, 87–89.
- [Z] V.A. Zorich, Mathematical analysis I, Universitext, Springer-Verlag, 2004.

Department of Mathematics, Università degli Studi, Milano, Italy, and Mathematical Institute, Czech Academy of Science, Žitná 25, 115 67 Praha 1, Czech Republic

E-mail address: stefania.dalessandro@unimi.it

Mathematical Institute, Czech Academy of Science, Žitná 25, 115 67 Praha 1, Czech Republic, and Department of Mathematics, Faculty of Electrical Engineering, Czech Technical University in Prague, Zikova 4, 160 00, Prague

E-mail address: hajek@math.cas.cz

DEPARTMENT OF MATHEMATICAL ANALYSIS, CHARLES UNIVERSITY, SOKOLOVSKÁ 83, 186 75 PRAHA 8, CZECH REPUBLIC E-mail address: johanis@karlin.mff.cuni.cz